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G5-Mbo-Lesson 16

1. Inthe right triangle below, the measure of angle L is 50°. What is the measure of angle K?

The sum of the interior angles of alf triangles is 180°.
£K = 40°| Triangle JKL is a right triangle. Since 2/ is 90°, and
2L is 50°, 2K must be 40°,

180° — 90° — 50° = 40°

After | sketch the right
triangle, | can visualize it
sliding and rotating. These

a. Draw KL Ya triangles are the same.
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The two triangles | sketched are aligned to create a
180°, or straight angle, along the vertical grid line. So
if the two acute angles of the triangles add up to 90°,
the angle in between them, ZMLK, must also be 90°,
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Explain how you know ZMLK is a right angle without measuring it.

tused the grid lines to sketch a right triangle with side LK, justiike in Probiem 1. Then | visuolized
siiding and rotating the triongie so side LK matched up with side LM,

! know that the measures of the 2 acute angles of a right trigngle odd up to 96°. S0 when the tong
side of the triongle and the short side of the triangle form o stroight angle, 180°, the angle in
between them, cMLK, is ofso 96°,

Compare the coordinates of points I, and K. What is the difference of the x-coordinates? The
y-coordinates?

LB 4 andK (7,2)
The difference of the x-coordinates is 4.

The difference of the y-coordinates is 2.

Compare the coordinates of points L and M. What is the difference of the x-coordinates? The
y-coordinates?

L(3.4)and M (5,8)
The difference of the x-coordinates is 2.

The difference of the v-coordinates is 4.

What is the relationship of the differences you found in parts {e) and {f) to the triangles of which
these two segments are a part?

The difference in the value of the coordinates is either 2 or 4. Thot makes sense to me becouse the
trinngles thot these two segments are part of have o height of either 2 or 4 and o base of either
2or4,

When I visualize the triangle sliding and rotating, it makes sense
that the x-coordinates and y-coordinates will change. by a value of
2 or 4 because that’s the length of the triangle’s height and base.
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